Eﬁ%ﬁmﬂﬂ1%?3&$§$&§ﬁﬁﬁﬁig$9ﬁgﬁﬁ&
- ~pHEFIRE 106 2% 14p (EEH=-) 9:30

- BRI RFE MK

= AR VR A

T~k MEZ

f~4

TR AR TRTES MRS MR R RER R A A
A ~HHmEE

Logdefo 2 3/ B RAAY - Shet A MRE HR2 4 20000 -

2 MR Z BRI 0 R b A SR AR B 2B R
5 0E LA EF o

3.98E F EHHEF I 106 £ 30 25 P > 1 (EHAR 4T
(D. #3HFEF 51 RS ~FF 5 7:%B @k 612 o
(3). J/TH =R gidwm(ip A 78)

4107 F & & > EEFATARY G e

5.5 ERAMEPH Y e FREB A

6. E P = K E A FEAT

% - =X % - = %= =X
- E % 1-1~2-1 2-2~3-3 4-1~5-2
- E% 1-1~2-2 2-3~3-3 3-4~4-3
zE% 1-1~2-1 2-2~3-3

S AT E R 11030




